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A 45 kg toboggan and rider decclerate on level snow at 0.53 m/s®. What is the coefficient
Fn=44IN of friction between the toboggan and the snow?
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Find the coefficient of friction between the carton and the ground. \ w= 0.3) ]

@t {

B. 038 - note that
C. 049 You cannoi
D. 067 W

hegative wm, SO
always Use  positive
A net force I acts on an object of mass m . causing it to accelerate at 4.0 m/s® . If the values For

same net force F' acts on an object of mass 2m , its acceleration will be Fe and
& Newlon's  second  law Fn

@ 2005 when
53 4.0 m/s’ a = F Cal(uloﬂ\n‘l)
D.  80mis’ R '_‘rﬁ S

15{ we wa Ahe Same torce J'ro c?m
obyect witk  dovble  the  Mass it will
accelevale halt &S much .

: a= 2-OW\/SZ\

¢




4.

\)\M’V\P5

A 72 ke skydiver from a helicopter and is accelerating downwards at 8.6 m/s”.
Find the friction force acting on him.
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A 15kg block on a horizontal surface has a 100 N force acting on it as shown.
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What is the normal force? = Fn2Fa
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A block of mass m remains at rest on an incline as shown in the diagram.
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A curling rock is travelling to the right across the ice as shown in the diagram.

Which of the following best represents the forces acting on the curling rock?
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A 1200 kg trailer is accelerated from rest to 15 m/s in 5.0 s. The average force ot friction
acting on the trailer is 800 N.
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What is the pulling force applied to the trailer through the hitch?
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